Hidden Cube Test -1

fA&er : (92 1-10) 57 9d1eToT & FS G T THATR Ueh TA/GATT T TAHTOT fhdT IgaT & | TIHRT 3 Tl
I A (Counting) =TT & fSieTehr @l Fcfes 3R fhei o7 &9 & A gU &l

Q1. BY ©el T HE&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q2. BY Ul T HEAT = ?

i

s

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q3. TV T T HEAT = ?



(a) 1
(b) 2
()3
(d) 4
(e) 5

Q4. BV & T J&AT = ?

(a) 2
(b) 3
()5
(d) 6
(e) 7

Q5. B & T H&AT = ?

(@1
(b) 2

()3



(d) 4
(e)5

Q6. TY ©eT I HEAT = ?

(a)5
(b) 6
(c)7
(d)8
(e)9

Q7. Y ©eT hl HE&AT = ?

(a)1
(b) 2
(c) 3
(d) 4
(e) 5

Q8. U EeT chr HEAT = ?



()1
(b) 2
(c)3
(d) 4
(e)5

Q9. B T T HEAT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q10. BV ©eT T F&AT
T =72

(@1
(b) 2

(c)3



(d) 4
(e)5

Solutions
S1. Ans.(b)
S2. Ans.(b)
S3. Ans.(d)
S4. Ans.(d)
S5. Ans.(d)
S6. Ans.(b)
S7. Ans.(b)
S8. Ans.(d)
S9. Ans.(d)

S10. Ans.(c)



Hidden Cube Test - 2

fA&er : (92 1-10) 57 91eToT & FS G T THATR Ueh TA/GAT T TAHTOT fhaT IgaT & | 3TIRT 3 Tl
I A (Counting) =TT & fSieTehr @l Fcfes 3R ey oot &9 & Y gU &l

Q1. BY Ul T HE&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q2. BY Ul T HE&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q3. DU T T HEAT = ?



(a) 1
(b) 2
()3
(d) 4
(e) 5

Q4. BV & T J&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e) 5

Q5. BY ©eT I HE&AT = ?

(a) 2
(b) 4

(c)6




(d)7
(e)9

Q6. TY ©eT I HEAT = ?

/
i
P

(@)1

(b) 2

()3

(d) 4

(e)5

Q7. Y ©eT hl HE&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e) 5

Q8. T T I HEAT = ?




(a)1
(b) 2
(c)3
(d) 4
(e)5

Q9. B T T HEAT = ?

()1
(b) 2
(c)3
(d) 4
(e)5

Q10. BV ©eT T FE&AT
T =72

(@1
(b) 2

()3




(d) 4
(e)5

Solutions
S1. Ans.(d)
S2. Ans.(d)
S3. Ans.(d)
S4. Ans.(e)
S5. Ans.(c)
S6. Ans.(b)
S7. Ans.(e)
S8. Ans.(a)
S9. Ans.(c)

S10. Ans.(a)



Hidden Cube Test - 3

fA&er : (92 1-10) 57 9eToT & FS G T THATR Ueh TA/GATH T TAHTOT fhaT IgaT & | 3TIRT X Tl
I A (Counting) 1T & FSieTehr @l Fcfes 3R fohei o7 &9 & Y gU &l

Q1. BY ol T HEAT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q2. BY Ul T HE&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q3. DU T T HEAT = ?



/
d
4
/|
/
4
(@)1
(b) 2
()3
(d) 4
(e)5

Q4. B & T HE&AT = ?

/
(@)1
(b) 2
(c)3
(d) 4
(e)5
Q5. TY ©eT chl HEAT = ?
1
]
1
)/
)/
(a)1
(b) 2

(c)3



(d) 4
(e)5

Q6. TY ©eT sl HE&AT = ?

(a)1
(b) 2
(c) 3
(d) 4
(e) 5

Q7. Y ©eT sl HE&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e) 5

Q8. B EeT chr HEAT = ?




i

Y

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q9. B T T HE&AT = ?

()1
(b) 2
(c)3
(d) 4
(e)5

Q10. BY ©eT T HEAT = ?

(@1
(b) 2

(c)3

0

<
<S

VA



(d) 4
(e)5

Solutions
S1. Ans.(d)
S2. Ans.(d)
S3. Ans.(c)
S4. Ans.(d)
S5. Ans.(a)
S6. Ans.(d)
S7. Ans.(c)
S8. Ans.(b)
S9. Ans.(d)

S10. Ans.(c)



Hidden Cube Test - 4

fA&er : (92 1-10) 57 9eToT & FS G T THATR Ueh TA/GATH T TAHTOT fhaT IgaT & | 3TIRT X Tl
I A (Counting) 1T & FSieTehr @l Fcfes 3R fohei o7 &9 & Y gU &l

Q1. BY ol T HEAT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q2. BY Ul T HEAT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q3. DU T T HEAT = ?



AN

(a) 1
(b) 2
(c)3
(d) 4
(e) 5

N

Q4. BY Ul T HE&AT = ?

(a) 2
(b) 3
(c) 4
(d) 6
(e) 7

Q5. TY ©eT I HEAT = ?

(a) 2
(b) 3

(c)6

.




(d)7
(e)9

Q6. TY Tl I HE&AT = ?

(a)1
(b) 2
(c) 3
(d) 4
(e) 5

Q7. Y ©eT sl HE&AT = ?

(a)1
(b) 2
(c) 3
(d) 4
(e) 5

Q8. B EeT chr HEAT = ?




(a)1
(b) 2
(c)3
(d) 4
(e)5

Q9. B ©e T HEAT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q10. BV ©eT T F&AT
T =2

(@1
(b) 2

(c)3




(d) 4
(e)5

Solutions
S1. Ans.(e)
S2. Ans.(e)
S3. Ans.(b)
S4. Ans.(d)
S5. Ans.(b)
S6. Ans.(b)
S7. Ans.(e)
S8. Ans.(a)
S9. Ans.(d)

S10. Ans.(b)



Hidden Cube Test -5

fA&er : (92 1-10) 57 9eToT & FS G T THATR Ueh TA/GATH T TAHTOT fhaT IgaT & | 3TIRT X Tl
I A (Counting) 1T & FSieTehr @l Fcfes 3R fohei o7 &9 & Y gU &l

Q1. BY Ul T HE&AT = ?

=i

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q2. BY Ul T HEAT = ?

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q3. DY T T F&AT = ?



(a) 1
(b) 2
(c)3
(d) 4
(e) 5

Q4. B & T H&AT = ?

d
4
(@)1
(b) 2
(c)3
(d) 4
(e)5

Q5. TY ©eT I HE&AT = ?

(a1
(b) 2

(c)3




(d) 4
(e)5

Q6. TY ©eT I HE&AT = ?

(a)1
(b) 2
(c)3
(d) 4
(e) 5

Q7. Y ©el hl HE&AT = ?

(a)1
(b) 2
(c) 5
(d) 6
(e) 7

Q8. B EeT chr HEAT = ?



(a)1
(b) 2
(c)3
(d) 4
(e)5

Q9. B T T HE&AT = ?

e

(a)1
(b) 2
(c)3
(d) 4
(e)5

Q10. TY ©eT T HEAT = ?

/

/|

(@1
(b) 2

(c)3




(d) 4
(e)5

Solutions
S1. Ans.(e)
S2. Ans.(e)
S3. Ans.(c)
S4. Ans.(d)
S5. Ans.(b)
S6. Ans.(d)
S7. Ans.(d)
S8. Ans.(d)
S9. Ans.(e)

S10. Ans.(d)



